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/gSVradl‘I INETH Ié < 6

kurumi_servol.write(gSvradl); -

H—R delay(100); =
:E_9_1< gSVradl VB .
kurumi_servol.write(gSvradl); ' KOS
~ gSvrad2=30;
kurumi_servo2.write(gSvrad2);

— delay(100); R =z
7 7h< gSvrad2 = 0; AR EH
kurumi_servo2.write(gSvrad2);

_ dela

gSvradl = 30;

kurumi_servol.write(gSvradl);
H—R delay(100);
T—41 gSvradl = 0;

kurumi_servol.writetgSvradl);
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delay(106
gSvrad 1
(__delay{(400);

~—gSvrad2 = 30;

delay(100);
gSvrad2 = 0;
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(__delay(200);
gSvradl = 30;

kurumi_servol.write(gSvradl);

kurumi_servol.write(gSvradl);

kurumi_servo2.write(gSvrad2);

kurumi_servo2.write ad2);

kurumi_servol.write(gSvradl);

delay(100);
gSvradl = 0;

kurumi_servol.writé(gSvradl);

delay(200);
gSvrad2 = 30;

kurumi_servo2.write(gSvrad

delay(100);
gSvrad2 = 0;

kurumi servo2.w

delay(800);

ite(gSvrad2);
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digitalWrite(led red, LOW)

delay(2000);
digitalWrite(led green, LOW) =k

delay(2000);

digitalWrite(led ,
delay(2000);
digitalWrite(led |g ,

digitalWrite(led red, HIGH) // blue+green+.,,_
delay(2000);  ~ "1 " "
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delay(2000);



